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. [Time: 3 Hours]

= T Please check whether you have got the nght quéstaon‘pap_
N.B: 1. Question 1 is compulsory. oy

2. Attempt any four from remaining six ’questmns‘ '

2 What is the difference between singly linked list and doublyiqué & ﬁst erte a!go ith

L Insert a node in double linked list
- ii. Find a node in doubly linked list N
& Define a graph. What is the difference between a graph,an b,

matrix and adjacency list- with an example.

2 Define stack. Explain any two stack appllcatlons with example s,
~ B.Define max heap. Construct a valld max heap usﬁ:rgfbe fb]!owing 22 15

@v;t{ﬂqsart wuth an example. lee the algorithm, 08
egieqi‘sg 5560808590. | 07

. N s i Turn Over
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Q.P. Code :07829

'Q7 a.Explain the concept of complecity of an algorithm. Explain the Big-O notation. Explain the techniques of
backtracking and divide and conquer.
b. Define Expression tree? Draw an expression tree for the following expressmn A* (BICHD E) and also
determine its prefix and postfix traversal. :
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Q.P. Code :11761

[Time: 3 Hours] [ Marks:80]

: Please check whether you have got the right question paper.
N.B: 1. Question No.1 is compulsory. ;
2. Figures to the right indicate maximums marks.
3. Attempt any four questions from Question ,_N_o.z.to ¥
4. Answers to the sub question should be answered together.

2.1 &) How paging is implemented in operating system? Explaln in detarl SR by T _': = 3 10
2) Why page size is always power of 2? Explain S QA USRSk Y S 05
C) Write a short note on absolute loader and re- Iocatable Ioader QS O ey TR 05
2.2 A) What is deadlock? Explain in brief deadlock_preVEn;iOn methods. \ ~ : 08

8) What is page fault? Given references to the folloWings pages by a program 1,2,4,0,1,2,4,1,2,5,1,3,4,2,5 Using 07

FIFO, LRU and Optimal page replacement polacy How many page faults w;II occur if the program has assigned
three page frames? :

2.3 &) What is capability and access tist? Explain the features needed ina system for effuc:ent capability manipulation.08

And justify whether it can be used in memory. protectlon
2] What are the disk scheduhng criteria? - 07
Suppose the head of a moving hard disk with 200 tracks (nurnbered from 0 to 199) is having disk read write

head at tracks 50. Assuming the arm is moving towards track number 0 If the queue of requests in FIFO order
is 88, 185, 35, 121, 12, 122, 62, 67.

What is the total head movement under foIIowIng schedullng algonthms?
a) FCFS .

b) SSTF P
c) SCAN '
A) What are the process scheduling cnterla? For the processes listed in the following table draw a Gantt chart 08
ullustratmg their execution using First Come Flrst Serve (FCFS), shortest Job First (SJF) Preemptive and Round
Robin: (RR) (quantum =2ms) Find turnaround tnme of each process for the above scheduling algorithms

S Process < Arrwal Time-| Burst Time
A s O A A0 5
N RS 5
P > 2 2
D N 1
B} What is process?i\_.Nhat are process states? Explain five state process model with the help of neat diagram. 07

DF85B2CAF8DDC703193679392AD24971




Q.P. Code :11761

Q.5 A) Consider a system with a following current resource allocation State: 08
Process | Allocation Max Available
R1 R2 R3 R1 R2 R3 R1 R2 R3
PO 2 3 2 9 7 5 5 4 3
P1 4 2 2 5 4 4
P2 5 2 4 11 2 4
P3 4 3 3 4 4 4
P4 2 2 4 6 5 5
Using Banker’s Algorithm

a) What is the content of matrix need?

b) Is the system in safe state? Give the sequence.

c) if the request from P2 arrives for (0, 0, 1), can the request be granted imrhediately?

B) What criteria is important in choosing a file organization? List and briefly explain any three file organizations. 07

Q.6 Differentiate between the following 15
a) User level threads and kernel level threads.
b) Fixed partitioning and Dynamic partitioning
c) Semaphore and Monitor

Q.7 Write a short note on any three 15
a) Android OS architecture
b) Race condition
c) Multi-tasking , Multiprogramming and Multiprocessing OS
d) Buddy system
e) Protectionin OS

DF85B2CAFS8DDC703193679392AD24971
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Question No 1 is compulsory. -
Attempt any four out of remaining six questmns.
Each question carries equal marks.
Figures to right indicate marks.

Use of Calculator is permitted.

-

ponow

Discuss HTTP as an application Iayewrdtqcp -
NN

a) Calculate the VRC for the following 07 .
1100001 1010101 101111@1@01 -
08
07
08
07
08
07
:CfA:n' a anizq;lb s-given the. site Addrgs%as ",6.‘13’1316/21 Find the following 08
’“er)mask“?r;«aoﬂed e
r’ks ¥
uuble%@t,&kast usagf!&ﬁoﬁ
taddibss” .0
0ds 07
15
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N.B:

(3) Assum= any necessary data but justify the _
(4) Figures to the right indicate full marks. -~
(5} Use of scientific calculator is allowed..

Marks
No.of 20
students

a defect1 ve but also mlsidentaf“es as &hﬁ%&%bout‘gﬂq‘évew 100 goad transastors'ﬁiven that a randomlv
; h gropahility that}tis actua“llv ;iefeé’tWe

B) In Manufacturing ¢ certain component,
pnbabumes 0. ~5nd 61 ‘What tis the proba 119 thaparanﬂbmty selected component
a)ﬂoe&hoﬁ”have }.-ither kind bf«&iéiect igazdefe\ttlvé‘?
\e ¥

.ﬂ The l_ifetﬁne of cer ainkigd offelectronrc devices
~ 25 hours. Aﬁumiagﬁat:tm distribution is normal
L Whaﬁs the_pﬁbﬁabtht? that the electronic devices will have lifetime of more than 350 hours
- 3 : :_tage will have life time betweeer?S and 325 hours

e Wha percanﬁage will have lifetime of more than 300 hours
&Qemehtage normalVanate Z, P(0< Z < 1)=0. 34&3 P(0< Z < 2)=0.4772,

2 L

1) TURN OVER

ITave mean life of 300 hours and standard deviation of

K 3321695820842B155E053B118SBACFBB

T8622 / T0203 PROBABILITY & STATISTICS / MA‘V*QOI#N

10

05

05

08

07

07




T8622/T0203 PROBABILITY & STATISTICS
Q.P. Code ;09926

*a) Find the Spearman’s Rank Correlation coefficient for the following da_t'a”ﬁ__ L Gy g 08

oy e LY O At
O AN e

Marks in Statistics | 15 | 20 28 12 |40 50?:20 80 $

MarksinCOA | 40 |30 50 30,..--’-‘5!,20?:.__ 0. 130 60

b) Consider an experiment that “four coins are tossed“ Let the random vanable x represent the number 07
of heads’.Find ST L N AN .

i) the probability mass function of X. SIS & N

i) the distribution function of X. Qe R T L N R

iii) the probability of getting exactly 2 heads - A

iv! the probability of getting more than 2 hea;ls T e

v) the probability of getting less than 2 heads- R .

vi) the probability of getting less than 4" butmore than 1 head

vii) the probability of not getting more than 3 heads i
@) Show that the various of Beta D_rs,tr\ibqt_lg@-‘of ﬂrst;;_k_!_(\;d 8 PO FRIT LS 08

mn A

(m-t-n)z (m¥n+1)

-.5 -

S 2 07
b) Find the variance and Coejﬂcrent of vanatlon {'or the datagwﬂn below
i

..‘_._‘_

Gassnterval Ti0° 200 “50-- 30~ -snji_g,f;.-so- 70- | 80-
Sadkiiebi gt "__.20_ ‘50 ._4¢f,;t~_ 50 {60 |70 |80 |0

Frequencv “[E2 f T 1‘005 115 117|130 | 140 | 160 | 156
a) Anincomplete frequency distnbutxon is 5iven bleipw< The total of frequencies is 150. If the median of the 05
di smbutmn i5,6.35 find the misslng frquencies Ken

Clas@nteryal\, Ti2. .2,3 “_.3;4_-7 45 [56 |67 |78 [89 [9-10

Frequengye . |1- . .4“”..10 1% |2 |60 |2 |10 |6

; b). 'Prove that geométricdi'stribﬁtibh Ais me’r’nery less

N The folluwmg table glves the numben bf car accldents in Uttar Pradesh for 8 days, D1 to D8 Find whether
3¢ they are Uniformly d:stﬂbu:ed ‘

: ..QQVSE, ~[b1 |p2 |o38 |D4 |D5 |D6 |D7 |DS8

I NoofAceidents |20 |14 |16 |12 |11 [15 [16 |10
Giyen for 7 degrees of freedom at 5% LOS the critical value of x* = 14.0671

2 TURN OVER
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T8622/T0203 PROBABILITY & STATISTICS

Q.P. Code :09926

a) Atoothpaste manufacturing company was distributing a particular brand'of-'toé\ihkésge }hrough 05
large number of retail shops. Before a heavy advertising campaign the mean sales per week per shop was

found to be 70 dozen. After the campaign the sample of 26 shops was taken and the mean sale was-found

tobe 75 dozen with standard deviation of 16. Can you consider the aﬂvertisement effective? Gwen the

value of t, at 5% level of significance for 25 degrees of freedom is 2.0595

b) The probability of a bomb hitting a target is 1/10. Two bombs are enough to destroy the bndge

If ten bombs are aimed at a bridge, find the probability that the bridge is destroyed. 05
¢) Thejoint probablllty density function of the two dimensional random variable (X,Y) is gwen by 05

fixy) ==X, 0sx<20<y<2

= 0 otherwise
Find the marginal density function of X and Y

o 3

“ ! 3321695B20842B155E053B1185BACFBB
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T8622/ T0204 FINANCIAL ACCOUNTING

— Q.P. Code 03945

[Time: 3 Hours] [Marks 80]

Please check whether you have got the I'lght questton paper
N.B: 1. Question No.1 is compulsory. £ :
2. Attempt any four questions out of the: remammg ;
3. Answer to the questions should be grouped and wntten together
4. Figures to the right indicate full marks asmgned to the questlon s

Q1 A Whatis main purpose of preparing cash flow state{n‘_en_t and-expf[ai-_r} ita signi_ﬁcaricg;‘ ; _' o & ; T A 10

B From the following Trial Balance of M/s. Bharat & Sons, prepare tradmg and proﬁt and Ioss accouht for the 10
year ending on 31 st March 2016 and the balance sheet as on t‘ne date o o

’ Trlal Balance as ( on 31 st March 2016

oA

Particulars

Debit Rs

Particulars %

3 '.: . Credit Rs.

Purchases

;5.40.000 :

Sales

s R :_;o,4o,ooo

Salaries& wages

~3,50,000 |-

-Return odtwa rd :

12,000

Office expenses -~

4,000

_Discount rece;yed

6,000

Trading expenses

8000

‘Interest recewed > 8

3,000

Factory expenses

11,000 |

Capitat

1,78,000

Carriageinward = .

8,000 |

Returns inward

e 12.000]

Discount aIlowed

2. 2000

Cpmmnssuon

“Stock -

60,000 |

¢ | l_ns:ome.ﬁta;g

~ [Cashin ,h_and‘i S5

T 2,00,000 ]

12,39,000

Closmg Stock is valued at Rs 1 35 000

:~.1z‘,39,gon~‘t, TS

1

Journahze fol[owmgtransactaon in the books of Anklta Enterprises.
n“Vzozs : :
P Jdanl il

< ; ”Stai‘.te‘d‘bu‘siness“ with cash Rs.90,000
S

;:Bought goods for cashRs.10,000

Recelved from Nishant Rs. 15,000

( ommlssmn recewed by cheque of Rs. 10,000
'cldyfurthre for Rs. 15,000
SO Purghased goods of Rs.10,000@ 10% cash Discount
: o ];s_ggd cheque of Rs.5,000 to Roshani Enterprises

: "'I;-i\’.aid Insurance Premium of Rs.10,000 by cheque

! 9 - - -i'j‘galaries paid Rs.10,000
Paid Rent Rs.10, 000 by cheque.

7C15703103FODD2AE29C13C71744F083

TURN OVER

10




t

SE = ]

e

Qa3 A

Q4 A

Qs A

Q6 A

T8622/T0204 FINANCIAL ACCOUNTING

Q.P.Code :03945
Explain the Separate Entity Concepts with example
Explain advantage and disadvantages of ratio analysis,

Why contra entries are passed in cash book?

Prepare Triple Column Cash Book with cash, bank& dlscount column from;t’he .f_Ol,[_o_u(ihg frahsec_tion; ;é_r;q‘d"

balance the same. Sept 2016.

ot A

Sepl

Sep 2 Paid into Bank Rs.10,000 .

Sep 3 Purchased machinery by cheque Rs.10, 000

Sep7 Received from Mudgha Rs.3,560 and a[Iowed dnscount Rs. 40 .

Sep9 Paid to Soham bv cheque Rs.5,970in full settlement of hls account for
Rs.6,000 : A s

Sep 12 Withdraw Rs. 5 000 for bank for personal use (

Sep 14 Received cheque from Med ha for Rs.4,970 in: fufl statement of her account
Rs.5,000 & o5 . oG ol N

Sepl6 Medha's Cheque depos:ted mto bank

Sep 18 Sold goods for cash Rs. 5 ,000 -

Sep 20

What is Trial Balance? o

Cash in hand Rs.1,15,000
Bank balance Rs.35,000

Salanes pald by cheque Rs 10 ,000

Explain with example three golden ruies of Accountmg

Explain different types of dlscount wrth examples

From the followmg Profit and Loss Account-‘and the Bala nce sheet of Praj Compa ny.

NG Profit and Loss Account ason n31% March 2016

W Perticuiars.

T "RS."" —

7C15703103FODD2AE29C13C71744F083

;.' : Particulars Rs.
To. upenmg stock 3,000 | By Gross Sales 2,00,000
To Purchases S &S ~1,20,000 | Less: Sales return 5,000 1,95,000
To Direct Wages 5 1. 77,000 | By Closing stock 5,000
To Gross Prof‘t C/fd A5 AN 470,000
s Pt 2,00,000 2,00,000
To admmlstratlve expenses ~ 15,000 | By Gross Profit b/d 70,000
To selling and distrrbuti_on L 20,000 | By dividend received 10,000
expenses : N
To Loss on sale of leed asset.j" i 5,000
To Net Profit C/fd ' 40,000
80,000 80,000
2 TURN OVER
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T8622/T0204 FINANCIAL ACCOUNTING

“a Q.P.Code :03945 i
Balance sheet as on 31* march 2016 -
- .
Liabilities Amount (Rs.) Assets | Amount (Rs.) | L
[ Equity share capital 500000 [tand | 1,50,000 M
General Reserve 50,000 | Building 2,75,000
Profit and Loss A/C 40,000 | Plant and Machlnery - 2,00,000
Sundry Creditors 1,10,000 | Stock : 5,000
| Debtors &3 - - 50,000 : |
~ [ BankBalance | 20,000 &
7,00,000 TS " 7,00,000 E?
Compute following ratios h

1. Current ratio
2. Liquid ratio o, MR AT : .
3. Operating Profit Ratio P R e O o S & ‘ (N

Gross Profit ratio E
B Whatis Ledger explain with example. : T g R IO 05
A From the following information prepare cash Budget for three months January February and March 2016. 10 ;
Month CreditSales | Credit purchases | Wages Other expenses !
(R0 £ 8 & i) O O S ARG (Rs.)
November TR 1,89,000 v BIB000F S 12,000 5,000
December 12,500 | - 1,28000| = 9,000 4,000
January e 18000, 1 3 95,-000 1 8,000 5,000
February ' ~ 79,000 - 1,28,000 : 9,000 7,000
March & & O 47 1,20,000°" ~ o7 2 4,265,600 O 8,000 6,000 .;
April ' | - 1,48,000 1,40,000 10,000 2,000 P,
[ A 4 o ‘,‘ . i | s . E . -‘
Otherlnformatlon |t ]

1y ‘Cash balance by as on 1" January is Rs. 10 000
- 2) " Credit allowed by supplier is two month.
~ 3) . Credit allowed to customer is one month.
. 4) Delayin payment of wages and other expenses are on month.
- 5) Dividend received Rs.5, 000 in the month of February.
. _6) Interest paid Rs.3, 000in the month of January.

\;:inff .;~WFl:e'chpé of aécounting. A Y (5 05

7C15703103FODD2AE29C13C71744F083




